
 
 

 
CHAPTER 14 

BIRDS COME BIRDS GO 
 
 
Ques.1 Write in expanded from? 
 ×¾ÖÃŸÖéŸÖ ¹ý¯Ö ´Öê ×»Ö�ÖÖê… 
 
 
a) 37 = 30 +  
 
b) 74 =  + 4 
 
Ques.2 Write the value and draw beads on the abacus of the encircled digits. 
 ×�Ö−ÖŸÖß ×ÃÖ�ÖÖ−Öê ¾ÖÖ»Öê ´Öê �ÖÖê»ÖÖ� éúŸÖ ÃÖÓ�μÖÖ†Öê � êú ¤üÖ−Öê ²Ö−ÖÖ†Öê… 
 
a) 4 7      T O 
 
 
 
 
 
b) 9 6      T O 
 
 
 
 
 
Ques.3 Look at the key for place values and writes down the sums. 
 �ÖÖ−ÖÖë ´Öë Ã£ÖÖ−ÖßμÖ ´ÖÖ−Ö ³Ö¸üÖê ŸÖ£ÖÖ μÖÖê�Ö±ú»Ö ×»Ö�ÖÖê… 
 
   T U 
 
    
 
 
 
 
      +    =   



 
 
 
 
 
Ques.4 Colour the tens 
 ¤üÆüÖ‡Ô ¾ÖÖ»Öß ÃÖÓ�μÖÖ†Öê ´Öë ¸Óü�Ö ³Ö¸üÖê… 
 

 
16 

 

 
5 

 
12 

 
9 
 

 
30 

 

 
4 
 

 
15 

 

 
2 

 
75 

 
Ques.5 Complete the following. 
 ×−Ö´−Ö �úÖê ¯Öæ¸üÖ �ú¸üÖê:- 
 
 
     35          90  
 
      -        =     -       =  
 
a)      b)  
       20         75 
 
     +    =       +    = 
 
 
  
      15          10  
 
 
 
Ques.6 Write ones and tens and also colour the picture. 
 ‡�úÖ‡Ô ŸÖ£ÖÖ ¤üÆüÖ‡ÔμÖÖï �úÖê ×»Ö�ÖÖê ŸÖ£ÖÖ ŸÖÃ¾Öß¸üÖë ´Öë ¸Óü�Ö ³Ö¸üÖê:- 
 
 



 
 
 
 
Two tens + seven ones  
 
  
 
    
        65  
 
   21 
      
       49 
    
     
    98 
 
 
 
 
Ques.7 Put correct symbol (+, -) 
 ÃÖÆüß ×“Ö−Æü ³Ö¸üÖê:- 
 
a) 65  50 = 15 
 
 
b) 40  30 = 70 
 
Ques.8 picture subtraction 
 ×“Ö¡Ö ¤êü�Ö�ú¸ü ‘Ö™üÖ†Öê:- 
 
 
 
    -   = 
 
  9  -  4 =  5  
 
 
 
 
 



a)    -   = 
 
 
 
 
 
b) 
 
    -   = 
 
 
Ques.9 Solve – 
 Æü»Ö �ú¸üÖê:- 
 
a) 38 + 45 = 
 
 
b) 76 - 47 = 
 
Ques.10 complete:- 
 ¯Öæ¸üÖ �ú¸üÖê:- 
 



ANSWERS 
 
 
Ans.1  

a)   7 
 b)  70 
 
 
Ans.2  
 
 
a) 
 
 
 
 
 
b) 
 
 
 
Ans.3  32 + 43 = 75 
 
Ans.4  Do it your self 
 
Ans.5 
 
a) 35   – 20  = 35 
 15 + 20 = 15 
 
b) 90 – 15 = 85 
 10 + 15 = 15 
 
Ans.6  

65 = 6 tens + 5 ones 
  

49 = 4 tens + 9 ones 
  

98 = 9 tens + 8 ones 
 



 

Ans.7  
 

a)  – 
 

b) + 
 
Ans.8  

a) 8 – 3 = 5 
 
b) 6 – 2 = 4 

 
Ans.9  

a) 83 
 

b) 29 
 
Ans.10 
 

a) 37 
 

b) 74 
 

c) 61 
 

d) 10 
 

e) 109 
 

f) 99 
 

 


